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GENERAL STUDIES

oG — I
UNIT -1
Uifley — o
Section A

Gmiiy :

1. @alteutm alemalB@ 150 ComBSEnsSES ST el Werssad
Answer not exceeding 150 words each.

ii. @euteunp elamalB@L LSS LS IGILIewIS6NT
Each question carries ten marks.

iii. CaThassUULBeTon. g alemsseiey  amaBuid B elemsseEnsE LB
alenL werflésayLb.
Answer any six questions out of seven questions.
6 x10 =60

Critically examine the land revenue policy of the British.
SmBHCeowTHaMen Hlev auhHaUTUIS OBTeTmHmU SHMETTUISH

Assess the contribution of Jyotiba Phule in Social Reform.
Fepss F1HHSHHIBEG Cralum. .y SauTseaier Lmiseliemu aleufl.

Write a note on the social reforms of William Bentinck.
allevellwd GuemigmidSler geps FTHHSHIHIS6T LUBY GBI euenyH

What is Theosophical Society? Indicate its significance in the history of Tamil Nadu.
LNTIDLDEHTENT FemLl 6T6HIBTED 6T6iTen? HLODBIL Q6D DIGH6T (WHBWSHHleudHms sl LB GBIULIBS.

Write about Ayothi Dasa Pandithar as the first Champion of Dalits upliftment.
He0sHgIselar GCLLUTLIYBEG 2 MPHDH (WH6L HMELAUT 6IIB  igliLienLuled DBWTHFH HTF
LTSI LB TSP

Elucidate the re-organisation of Indian States.
@hFHw mplev wpIFTeiy uB afleur.

Review the achievements of Lalit Kala Academy.
606U H6UT SIHTLLOUTET FTHENGTHN6T DUIR| CFUIS.
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Gmiiy :
i.
ii.

iii.

gevg — 11
UNIT - 11

difley — &
Section A

@6iGeun(p alemalB@d 150 CFnBaEndE LWSMD60 allenLWwerssaib
Answer not exceeding 150 words each.

@6Geun(p alemalB@d U LHLICLIETTIHET
Each question carries ten marks.

Car@ssIUL_(Beer BTG alamaseiey smeuCuend eIy  alemesEnHG L (BLD
aflenL_wieflema]Lb.
Answer any three questions out of four questions.

3x10=30

8.  Answer the following

a. A car travels 90km in 2hours 30minutes. How much time is required to cover 210km?

(5m)
QM WHWHH 90 H.5_SMeHmaHd HL5& 1BSHSHISB0STTEHD GBID 2 wewl 30 HIIL ST
968 WA WheH 210, Hb SMISNHD S5 61BSHHH0BT6TEHLD CHILD elevaene)]?

A is thrice as fast as B. If B'can do a piece of work in'48 days, then find the number of
days they will take to complete the work together. (5m)

A eeiauir B, et@iLauenyH BT Ige0ID Gauemen. GFWIeuded eyl oL miG GeuslomereuT. B
Tl - @ Couemevenws 48  BeTHaTed (PRUUTT  eiafled, GHeUHD Sewenihdl  SibS
Gouemevadlll (PIQHBH 61HHEMGN BT6TH6NT 61(HSHHIS OBHTETEUT 616D HTEMWIS.

9.  Answer the following

a. The area of a trapezium is 828 sq. cm. If the lengths of its parallel sides are 19.6 cm and

16.4 cm, find the distance between them.(5m)
ugtiveney 828 F.05.15 @emewiliLdd Seneydel 19.6 GF.15, 164 QF.5 Gamewi  Ffleusdser
2 _WJSHNSH HIT60IH.

The ratio between the base radius and the height of a solid right circular cylinder is 2 :

5. If its curved surface area is

0 sq.cm, find the height and radius. (USEﬂ' = %)

(5m)
@ FHawio GhT eu'L o (pewenulest LI o wFupd 2 : 5 6B aldHHH0 o sllerer.

DIFHEI  UMETLILITLILY F.05.10 elalled, o (Hewemuledm SLID WBMWID 2 WP HTewis. (

22
T =— 6le&)
7

10. Draw a pie diagram to represent the following data, which shows the expenditure of
paddy cultivation in 2 acres of land (10m)
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11.

@ploy :
1.

12.

13.

ii.

1ii.

Particulars | Seeds Ploughing | Wages Fertilizer | Harvest Others

Expenses | 2000 6000 10000 7000 8000 3000
®)

Also,
1. Find the percentage of the head in which he had spent more?
2. What percentage of money was spent for seeds?

2 g&hsT BevdFHed Opevensoll LWL S  OFewe OC&THSHSLILL (BHeTeNSH. SHDEHBTEID
FHTABM6ENTH GHBSHGWD UL alleNbHILLLD IMTH

alleumisel | Seeds Ploughing | Wages Fertilizer Harvest Others
QFeveym6it | 2000 6000 10000 7000 8000 3000
®)

Guoguitd

abHHHMOLILNET S HBSH OCFTemsdF OCFallIUBGHBH. DS FHIHWD  el6lealene]?
IHSHmNNF FHAIHL Lewioneidl alend OBed aumhisdF Fevall LLGaEBE?

A flag post stands on the top of a building. From a point on thesground, the angles of
elevation of the top and bottom of the flag post are 60° and 459 respectively. If the height
of the flag post is 10 m , find the height'of the building. (\/5 = 1.732) . (10m)

R &LLLGHFHa Buwed @ OCaTesésbUDd BHBSBsH. Soyulselen @ LeTefuledmbal
Qamyssbusdar o Ff wBpd o9 SiPuaBiear gBBsCETHRSBET (BB 60°  BHID
45° e16hib. Ged GBMEHIGBIDLSHET 2 wird 10015 eeafled, BLLLSHHGT 2 WTHMBHH HTEWIH.

(J§ =1.732)

oG — 11T
UNIT - III
Uifley — o
Section A

@euQeut(h alemealB@ 150 QFMBHEHHE WsToed allenLwefssa|b

Answer not exceeding 150 words each.

@6lQeut( alemalBG USHSHI HICLIEwTS6T

Each question carries ten marks.

CaThsaslIL _BeTen gl elamsseied  amaCuaid B elemssEnsE LB
alenLwieflsBaLD.

Answer any six questions out of seven questions.

6 x 10 = 60
Write an essay on the uses of ultrasonic waves.
Cgalwjeom 6l Semevsellar LWSLTE UBL @b SL(BewJ 6(LRSHIS

Write a note on:

(a) Lead pencil

(b) Graphene

(c) Microcrystalline carbon
(d) Fullerene

G M.
(®) Qe OQueitdlev
(o) &lymie




14.

15.

16.

17.

18.

(®) mI6WILIGS SBITITLIGT
() Leveurifeitamert

Enumerate the contribution of biotechnology to the food industry.
o euieyd OCFHTHBEFTENeVHaM60 2 ulTOHTHN HI Lalweder Ukigemer UL 1gulellhs.

State the differences between eukaryotic and prokaryotic cell.
YUGrmBasfGwimgs OFsvsefelmbal wWCasMBwTgs OFed ereleuTm CoumLbama?

Answer the following

a. Why do we need positioning system (GPS) technology?
BIOHEG 2 06 ewallld &M G 05TEdH B UD g6 CHmeuunadamng?

b. Differentiate between WiMAX and WiFi.
WiMAX s WiFi-uler Geumpieniosst wimeneu?

List out pros and cons of mobile communication among school children and their
education.

ueelld  GULHmdHeT LBDILD SeuTsefllear  Hevall AemeGu  G&asllenL LIGLF  (GTenLIed)
HHeUeL LTI Hemwdsemens UL 1puledlBe.

Which material has high elasticity? Rubber or steel. Explain.
JUUT oBpId FeveuT FH60_slbdH CUTHEHDHES SiHe B Fuluied @ eengl. aleur.

ey — &
Section - B

@ploy :

19.

20.

21.

22.

23.

ii.

iii.

@6euQeut(H alamelB@Ld 250 QFMBHEHHE WsToed allenLwiefsaa|b

Answer not exceeding 250 words each.

@6UGCeuT(h alemalB@D UHMeMbH LHIICILIETIS6I

Each question carries Fifteen marks.

Car@saslu’_Beter  oml  allemaseney  elemauGugnId  gbFH  ealemESEHHG LB
alenLwieflsBaLD.

Answer any Five questions out of six questions.

5x15=75

Mention the objectives, achievements and decline of Swaraj Party.
guyTaw sl duler ChThemIEeT, FTHMIS6T LOBBID alDFF GHBHH 61(1DHS

Explain the role of Moderate in the Indian National Movement.
OhFHw alBHme0 BQuISHHH60 LGHarHseier Lmisellilener alendds.

Estimate the role of Jawaharlal Nehru in Indian National Movement.
OhHw CxrAw AusshHe0 MeuamiTeomed Ghmelsr Lsnisamen HINBHSD.

Discuss the salient features of the Government of India Act, 1935.

1935-b syemip BuBBrUL L SbhHU IFTES FULSHST (WdHHw HApiilweorser - alleurd).
Assess the contribution of E.V.R. to the Tamil Society.

SO FwsTwiHHBEG F.Cavgm-aler uRsefilemer wHITNBHS
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24.

Gy :
1.

25.

26.

27.

Write a detailed note on South Indian Rebellion
OapeamaibHw SenTdFd ump alfleurs 1SS

Ufley — &
Section B

@6lGeur(p alemalB@d 250 CFMBHEHGHE LOSMD6D allenLiersbsab
Answer not exceeding 250 words each.

@6Ceun(p alemalB@d UHMMHSH LSIICILIGTISEI
Each question carries Fifteen marks.

Car@sasUL_Betenr ey alambsefied smeauCuaid QUG elemedEnHE LB
alenLwieflesaib.
Answer any two questions out of three questions.

2x15=30

In the Annual sports meet, among the 260 students in a.school, 90 participated in Kabadi,
120 participated in Hockey, and 50 participated in Kabadi and Hockey. A Student is
selected at random. Find the probability that the student participated in

i. Either Kabadi or Hockey

ii. Neither of the two.tetirnaments,

iii. =~ Hockey only

iv.  Kabadi only

V. Exactly one of the tournaments. (15m)

e allemenuwuml B Gumiiguiled 260  wmewieuTHeMed, 90 Gui &L  Gumliguisid, 120 Guir
amrésl  Gumlguiend. wwBpd 50 Guit @rewi®  Cumluisild  &HeVHSHICSTTS E@IBEIT.  (H
LOTewIEUEST  FLDGUTUILIL| “(LpemBulled B THOHBHSILGE SImT6. CHTHOHHHGHL LT 6016160

1. BLIY | B|6V60SH BT

ii. @rewi®- Gumipuisd Heubadl CFmeTen BHLUILISBSHTET

iii. apTshaluied L (HLd

iv. &LIQuiled oL (BLD

V. gflwns eeipied oL (LD

B6UbhGH OBTETUSMHTEO HIBHDHHE| HTCHIH
Answer the following

a. A bag contains X 187 in the form of 1 rupee, 50 paise and 10 paise coins in the ratio

3:4:5. Find the number of each type of coins. (7.5 m)

Q@ ewuuled @h epuTul, 50 emuUFT LOBEID 10 MUSFT [HTEOILMKIGET elewienidbamsd 3 : 4 : 5
a3 aldHHHe0 o eitemer. BrewTmGele OTHSH WAL . 187 slafled, @eCeuT(h 6UmB
BTETLIMISET 6T TeRIenlHemd  6T6AICT6) 6160 SHT6wISH.

b. Find the GCD of the polynomials x*+x*—x+2 and 2x°-5x* +5x—3(7.5m)
X2+ X2 —x+2 wipid 2x> —5%* +5x -3 A LedaIBlILs CaTameuseiar B5.OLT.01 SHTemEs

Answer the following




Gpioy :
1.

ii.

iii.

28.

29.

30.

31.

a. An alloy consists of 30% copper and 40% zinc, and the remaining is nickel. Find the
amount of nickel in 40 kilograms of the alloy. (5m)
am 2 Boras sevemeuuled 30% OgFbybd wipd 40% HHHHPISHWD  BHD  HHHILD
o ofengl eiafled 40 HBeur eTedLwjeien OHFH 2 Geumsd HeveMaIUNeL [HlhbEH6d6T SI6ea| 6T6oTen?

b. A shopkeeper gives two successive discounts on an article whose marked price is
180 and selling price is ¥ 108. Find the first discount percentage if the second discount
is 25%. (5m)

I 180 ;& G¥s5s aloeowrsad, T 108 & alBumer  aldeOWTEaD OCBTEWIL @b
QUTHEDHDHE HMLEGITIT BIewihd OCFHTLT HelepLgHmen DiellbaBT. BJewILTeugl
He@pLy 25% eiafled, (PHeO HeTEHLIQSF FHAIHHMBHE HTCNIH.

c. The cost price of 16 boxes of strawberries is equal to the selling price of 20 boxes of

strawberries. Find the gain or loss percentage. (5m)
16 evlgrouf Guiyseflear oILEs ealemeownergd 20 ool groufl  Guliyseflear  alBLene
alemeVEGF &L eleled, @eoTUD (&) BLLEF FHAIHD SHTews

Uifley — &
Section B

@6lGeum(p elamalB@d 250 CFMBEEHGHES LOSMD6D ailenL U6 ssa|b
Answer not exceeding250 words each.

@ouCeunp alamalBELD  USlenahe! 10 ICILIGwTESEIT
Each question carries fifteen marks.

CaT@HBUUL(BeTem . BT6IG alameseisy eslmeuCued cpeip  alemesEnHE L (BLD
allenLWerlléHaLb.
Answer any three questions out of four questions.

3x15=45

Discuss the role of ISRO, in the development of space science.
alewrGleuel SIfalulied (peTGeurmm & g0 ISRO-afl6s1 LIMI) emedTLl umns
aleuTHlbs.

Name three ores of zinc. How is zinc extracted from zinc blende? Write the importance of
zinc carbonate.

endmIdlest (ZIincC) (WweHHWIOTeT cP&Iml HTHIbHemen dnml. eniml L1Gemenil eleienild HTHIONe0(HbHSH
onlml ety LIMSH05GESILGSBH. oM STTUGCI 196 (PHBUISHSHIUD LBY 61(SHIS.

Write an essay on Natural Disasters in India.

@hFHwreled gBuBL Bupems GCUILTseT GNISHH @b S (HMI UMIH

What are the causes for the loss of Bio-Diversity? Which according to you is the major
cause for the loss of Bio-Diversity?

o uiflll UeLEUMBHHAMDSHE GBLGBL DFHFBISHHE0H6T WTemeu? o UL LI6L6UMBHHHETENLDSH S
& (PSHBWITET DIFHBISHBHEOTEH [HHIG6T SH(HBIeUH WITH?




